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משולשים  דומים
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מהו  אורכו  של  רדיוס  מעגל  החסום  במשולש  שווה  שוקיים,  שאורך  השוק  שלו = 10  ס"מ  ואורך  הבסיס = 12  ס"מ.
· נתון:  א.  _______  ב.  _______  ג.  ________  ד.  ________
· צ.ל.:  _____________.
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הוכחה  (השלימו  את  החסר  בטבלה):
	מספר
	טענה
	נימוק

	1.
	O  נמצאת  על  _______  A.
	משפט:

	2.
	(A1 = ____
	ֹֹ

	3.
	BD = ___ = __
	

	4.
	(D1 = ____ = ____
	

	5.
	(E1 = ____ = ____
	

	6.
	AD2 = ___ - ___
	

	7.
	AD2 = ___ - ___
	הצבה.  6.

	8.
	AD = ____
	

	9.
	(E1 = ___
	

	10.
	(A2 = (A2
	

	11.
	(  _______ ~ _______
	

	12.
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DCAC

=


	

	13.
	
[image: image2.wmf]r____

____

-

=


	הצבה  ב  12.

	14.
	r = ___
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